@SIVCI

P

FRARISE (WER)
CJI2Z % (26 ~ @16)

ERFAFS
l T
FRAEMIE

FL7% (mm) 6 10 | 16
fi A =R
HEHR MAEH
EomfE ES MPa 0.7
BALEAES MPa 0.12 0.06

ISR (A )5 TCREPEIFI&: -10C~70C, HfREMEIF5%: -10C~60C
[LE ST iS 50~750 mm/s
SR W Reek b/ Kk i
< FHEAZE mm L0
* ith HRE
— s BEOR M5 x 0.8
BAESRTFHE R :
* g, 1B 15 HISOVG32,
cDJ2[B][6]-[15 [A][R]-[C73 Q
N B R RGP A5
i [ R - e rIEy—
D |WHEESA ik AT AR O el | TR s |1
LRI i G 10 o1 * T YR e n_|n4&
L% [ REA 6 [ o6mm O i R e
B ﬁ?ﬂ% _ o Tatomm EETEE e e & SR R TEHIS
TF | AR T -
W 16 | o16mm R [mim[ i TR /BEMEFFREIS R
S TR e * R (AT 2 = -
D | WHHM (Fg6) i MR RUATER 4R P *HEFRES | B R G
Foin s | Bl (mm) (mm) T [fuage | RHIRHERR)
A | U (ERe6)
| R HRED) 6 |15,30,45,60 cra.cr6, — BJ2-006
10 |15,30,45,60,75,100,125,150 :;Qi‘kﬂ& ﬁ;gi_lAZ:%'g BJ2-010
HINW | J79.F79W.
16 |15,30,45,60,75,100,125,150,175,200 E;Eév/”?*c’ BJ2-016
* R METF IR ARSI FT 2 B RT3 2 R
* Bk K EFoRI0 S S — 0.5m, L-3m . fiil: C73,C73L ,
SMERSTE (ZK) (BEZ&E) * BRI AR
2
NN GA i/ 1 M5x0.8
CJ2B6 MM e it &3 F1M5x0.8
O |
S %0 =
¥ i _
2w <
A | |F T NA NB
H S+
Z+iik
CJ2B10,16 §
=
"V GA  mAREN2MS08 GB
NN B -M5x0.
MM (gt
A / M5X0.8
?m S I Z
¥, ) Il - e %— -:
Al i 473 1
A F |_NA NB
H S+iik ]
Z+iTkE
£4Zmm) | A| B [ C|D|F |GA|GB|H| MM [NA|NB|NDh8| NN s|T |z
6 15|12 | 14| 3 | 8 145 - |28 [M3X05| 16| 7 6 | Mexi.0|49]| 3 |77
10 1512 14| 4 | 8 | 8 | 5 [28 [M4x0.7 [125/95| 8 | M8X1.0 |46 | - |74
16 15 (183 20| 5 | 8 | 8 | 5 |28 |[M5X0.8 [125| 95| 10 [M10X1.0[47| - | 75

1.05




FRAERISE (RIER): CI2ZR T

SMERSTE (ZEX)

iz (2% At TIRIRE Frimig
T #ZE f d p
Al ol | R
BES i @4
FX
5 e 1 B
— TR —
EE LI IRE iRt 353
(mm) ke | LB [olC |[LH|LX | LY [LZ | <¢= |FB|eFC|FX|FY [FZ [FT | =#¢= [B| C d |[H| %= [B|C d H
6 CJ-L006B | 15 | 45 | 9 | 24 |[16.5| 32 | CJ-FO06B |13 | 45 |24 | 14 | 32 | 1.6 | SNJ-006B | 8 | 9.2 | M6X1 | 4 | NTJ-006A | 5.5 | 6.4 | M3X0.5 | 2.4
10 CJ-LO10B | 15| 45 | 9 | 24 |16.5| 32 | CJ-FO10B | 13 | 45 [ 24| 14 | 32 | 1.6 | SNJ-010B |11 |12.7 | M8X1 4 | NTJ-010A | 7 | 8.1 | M4X0.7 | 3.2
16 CJ-LO16B | 23 | 55 |14 |33 | 25 | 42 | CJ-FO16B | 19| 55 (33| 20 | 42 | 2.3 | SNJ-016B |14 |16.2 | M10X1 | 4 | NTJ-015A | 8 | 9.2 | M5X0.8 | 4
WEIRE
CJ2D10,16 H . S+1rfe U R
CDJ2D10,16 BASEN NB
M GA 2-M5X0. v‘ +0 030
QO M o 5X0.8 GB _i $CDre"3 - —_
= 1l FERE (#0888
: FET )
-
ﬂ:.l e
LB A NA C s
T
; = ! .
: - - J‘j_t j
W
L Z+ 1ife N
e ZZ+ ik
#1#&(mm) | A | B | C |CD(cd) [CX[CZ | D |[GA[GB|H| MM |NA [NB |[R |S|U |[2Z |2z
10 15|12 |14 | 33 [3.2]12 8 | 18|28 | M4X0.7 [125 | 2255 46 82 | 93
16 15 18.3|20 | 5 |65[18.3| 5 | 8 | 23|28 [M5X0.8 |125|275| 8 |47 | 10 | 85 | 99
BHIRA S -
AH SR8 AT Z TH T R 4-$TC -
N « ) WEFAHF
“ 7 +0.2 [’“(
\ Il TU"8 -
: z : S
I 5
T &z s
| A U S ] 5
#TDrio Q,
iis l 5
k=l
TT TY 2|
T™W
EAEE TH & WEIRFHF
(mm) ke [Te| o0 [ TH[TK[TN|TT | TU | TV |[TW | TX | TY | %R DO |od [ L | ¢ [ m | t
10 |cJ-To10B|4.5| 3.3°0% |29 (18 (31| 2 | 9 |40|22|32 |12 |CD-Jo10 |33 30 | 3 [15.2[12.2] 12 |03
16 |CJ-To16B|5.5| 5 "% |35|20 [6.4|2.3| 14 |48 |28 [38 |16 |CD-Z015| 5 00 | 4.8 |22.7|18.3| 1.5 | 0.7
Ay T % —
15U B Fh 4 Sk YRS RSk l \ Btk ASHF
7 L1 7 L1
T #NDrio, A1 MM _L#NDHi0, A1 | Mm L
S‘g y - . / L - E‘ _gy
x I ﬂ offe E= L g
=z i 7 \ O Ex —_— — =
- i
+0.2
Yo Urtg2
EAEE 121 s Btk YEUT sk BT RAHF
(mm) 1 e (a1 oM (Lt mm Ut [NX(RI| gpem [A1] prto [t Mmoo [ut|nx[R1| gz [ eDas [ L | d | £ [ m [t
10 | 1-Jo10B | 8 | 3.3*3%*® |21 |M4x0.7| 9 [3.1]8|Y-Jo10B | 8 | 3.3°0°* |21 |M4x0.7 |[10(3.2| 8 | IY-Jo10 | 3.30% (162 8 [122|1.7|03
16 | 1-Jo16B | 8 | 57%9%° |25 [M5x0.8| 14 [6.4]12| Y-Jo16B [11| 5 5% |21 [M5X0.8 [10(6.5|12| IY-J015 | 5 5% [16.6| 4.8 [122] 1.5 | 0.7

1.06




FRARISAT (B1ER)
CJI2Z % (06 ~ @16)

BRHS

—

A

SR 1] | SRR
FRERE
L# (mm) 6 | 10 | 16
fi R A B
GEHN WA SRR/
B AES MPa 0.7
BAMERES MPa 0.25 0.15
IRSEFNGE (AR )3 TeHEMEFFIE: -10C~ 70°C, A% -10C~ 60°C
T FE T 50~750 mm/s
i gk op
FifEsZE mm 5°
* i N
BN M5 x 0.8
= QAL 1B ELShISOVG32,
BAESRTFHE
CDJ2[BJ[16]-[45][S][R]- [C73 Q
V\]ﬁﬁ&%T MR
LB | e B ——— Fnelzn
D [WERMR it ARG LR S TS | IR s |
BRI [KE fiz 6 | 010, 216 * BRI n_ |
'S | BRI 6| g6mm o J ?%gfi/ﬁﬁ;ﬁﬂ;ﬁ?ﬁl% ;.
_B lrew 10 [ p10mm Kion| = | mm | HERRLR
+gﬂm§”$:§2 16 | #16mm R bk ik
_I— * 5L 8] IR R (UG HR )
D | WHHM(%o65)) L T * B FE R TC IR,
s [fEmm R Jm1m =
L¥~1’EJ’H#%’£&§E {T*E/@gl‘iﬁ;éi?ﬁ
H1% TRAEITIZ * BT RES BT R R 31
(mm) (mm) T [fuage | UWHIRHERR)
6 |[153045,60 73,076, — BJ2-006
H7AL1,H7B, | A72 A73,
10 |15,30,45,60,75,100,125,150 H7BA. AT6HETO. BJ2-010
H7NW J79,A79W,
16 |15,30,45,60,75,100,125,150,175,200 E;SQN?’C: BJ2-016
* R MEFF I IUMS SR PT 2 B R 5 2 21
QK EFORIC S £ids —0.5m, L-3m ., fil: C73,C73L ,
. * BUH RN R,
SMERSTE (ZK)
EARR, s#EEq Z GB
CJ2B «CDJ2B z KO 1 KO
& MM NN M5X0.8 M5X0.8
[a] 5
oy . =
) - - [_4 o
LB b e e 1
A _F NA NB
H S+
2+ ik
*S *Z
FEEmm)|| A || B || @) D ||F | EB) | M8 )RR || RE )| Mo NN 5T 6~ [31~ | 46~ [61~]76~[101~[126~| 5~ | 16~ |31~ 46~ [61~] 76=]101~ 126~
15 | 30 | 45 | 60 | 75 |100| 125 | 150 | 15 | 30 | 45 | 60 |75|100] 125 | 150
6 1518|193 |8 28 |M3X05 | 3 | 7 | 600 | MEXT | 342|032 272 883 | - &3 0ad &3] dad | - -
10 15 (12 (14| 4 | 8| 5 |28 |M4X0.7 (55 (95 | 8 §yp | M8XT (455 53 | 65 | 77 | - 735| 81 |93 | 105 |- | - | -
16 15 118.3[20| 5 | 8| 5 |28 |M5X0.8 |55 (9.5 |10y, | M10X1 [455 | 54 | 66 | 78 | 84 [108|126 | 138 |73.5| 82 | 94 | 106 |112|136| 154 | 166

(O BRI,

1.07



R SEL(R1ER): CI2R T

SMERSTE (ZEX)

S+1rft

‘5 cz -
; MM s CX133 TIE i
WEIREL: #EEE © m&\ 1« |GB TEANTEZ 01,06 51
CJ2D-CDJ2D L — 5x08 et h
] = A
_ = e ] — i /
= gér +0.030 =t/
/ DB e i ¢CDH9 9 - 1 T
. U OHI AT 1 =
A NA | ~0.030 1
: J—|(‘15Cdde—oioﬁo P e
| Ty )
] s o A=) '-[i Ny
TY . w
e v 4-¢4TC
Z+ 5k |
cD 3 Z
fTf2(mm)| A | B | G|y CX|CZ| D GBI H | MM INA|NB | R| U e e a6 61~ 76~ 101~ 126~ | 5~ | 16~|31~]46~]61~|76~|101~]126~
15 | 30 | 45 | 60 | 75 |100| 125 | 150 | 15 | 30 | 45 | 60 | 75 | 100 125 | 150
10 |15 ]12]14|33[32] 12| 4 [ 18] 20| Max0.7 [5.5|225] 5 | 8 |455] 53 [ 65 | 77| - - | - [735] 81| 93 [105 N
16 |15 18.3[20( 5 [6.5[18.3] 5 [ 23] 20| Msx0.8 [5.5[27.5] 8 [10[45.5( 54 | 66 | 78 | 84 [108] 126 [ 138 [75.5] 84 | 96 [ 108|114 138] 156 | 168
o]
1, R s
%}E&-Cfff* I © MM = GA _ EAEN
\ ol NN = M5X%0.8 Fb‘BQ:/
- —=
CJ28B6 | ¥ — L _
{ N A
B ur]
_ A F ITI. NA NB
Sl .
- H+ 4782 S+ e
ZH2X11HE
2 "
MM a GA  FEiE
o NN & M5X0.8
¥ = \ 1" /
CJ2B10,16 3 -
A F_I_NA NB
H+ 7782 S+ {7k
ZH2X 17
* S % Z
L(mm)| A | B | C D || 7 || €A | = 1 MY DR | B MR v 5~ | 16~ | 31~ | 46~ [61~|76~|101~|126~| 5~ | 16~ | 31~ | 46~ [61~|76~|101~|126~
15 30 | 45 60 | 75 [100| 125 | 150 | 15 30 | 45 60 |[75[100| 125 | 150
0 46.5 | 55.5 [ 59.5 | 73.5 . X g .
6 15 11214 3 | 8 |14.5/28 |M3X0.5 | M6X1.0 | 16 | 3 |6 415 | 3 |(51.5)|(60.5)|(645) |(783)| ~ - - (;g.g) (Sg.g) (g;.g) (1825.2) - -
10 |15 (12 (14| 4 8| 8 |28 [M4X0.7 | M8X1.0 [125(55 (8 & . | - [485| 56 | 68 | 80 | - - | - |765]| 84 | 96 | 108 - -
16 15 [18.3/20| 5 8 8 | 28 [ M5X0.8 [M10X1.0 |12.,5| 5.5 (10 ?0.022 485 | 57 69 81 87 (111|129 | 141 [76.5| 85 97 109 [115[139| 157 | 169
* ()NE REAR R T,
WEIRE . HEEH
CJ2D¥CDJ2D ¢CDH9+8.030
. . HFHRIH T $Cdao—0.060
H+ 17k S+11kE U R cz
. NB
MM| GA it/ M5x0.8
g
= g=<
A NA
Z+2X47fi
- s z
ﬁﬁ(mm) QA E c (Cd) ex|| ez D || &R 14 NA|NB|R|U 5~ 16~ | 31~ | 46~ |61~ [76~ | 101~ | 126~ 5~ 16~ | 31~ 46~ 61~ | 76~ [101~ | 126~
15 30 45 60 75 | 100 | 125 150 15 30 45 60 75 100 125 150
10 15 (12| 14 33|32 12| 4 8 | 28 |M4X0.7|12.5(185| 5 | 8 |48.5| 56 68 80 845| 92 | 104 | 116 - -
16 15 [18.3| 20 5 [6.5(183( 5 8 |28 |M5X0.8(12.5|23.5| 8 |10 |48.5| 57 69 81 87 |111) 129 | 141 |86.5| 95 | 107 | 119 | 125 | 149 | 167 | 179

R, ks, EESL, TR, ®T, BEERSE, TEZEH1.0671,

1.08




FRERSE: CI2R T

Hith mAp KL

i) B
R cJ2 (B[] - A

PN E R R R CJ2Z ~[47#2]

W2 caaw(Bllare] [ f7#

FR I ca2K B |fLiz] - | £z

fIG B C32Q -

TR AT YR L cJ2 - —XC8
(fEH T )
JFEJEHE . 0~15mm

R AT TR cJ2 - —XC9
(&g m AT 7Y
1}%@7@@ 0~15mm

WATRE AL CJ2|B||filf#|— | 17#2A|+ |47H2B|—XC10
(BUAF2Y)
B
R TR L cJ2 |B|[fTiz| - [47F2A]+ [i1F2B-A| - XC11
(AT L)

B CI2RA [ 7] - [FF

i 10— CJ2 B[] 17 2]

e 8 T 20-CJ2 —[472]

LA L R LRURS B R, AT 5 SMCENIE BRI

1.09



	cj2

